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berr 2192 | INFERMEDIATE PART-I (11" CLASS)

THEMATICS PAPER-1 GROUP-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

a: You have four choices for each objective type question as A, B, Cand D, The choice which you

< is correet, fill that bubble In front of that question number. Use ma rler ot pen to fill the bubbles.

ing or filling two or more bubbles will result in zero mark in that question. Attempt as many questions &s
1 in objective type question paper and leave others blank. No credit will be awarded in case BUBBLES
qot filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

0.l ;
If a>0 them (A)2a <0 (B]-ch(] (C)-a=>0 (D) -a<0
The nurnber of subsets of u sel having 4 clements is: (A) 4 (B) 16 ()8 (D10

if ali the entries of a column of a square matrix 4 are zero then:

@A) [ai>0  @®laf<0  © tdl=0 (D) None of these
If 4 and B are two non-singular matrices then {(A8)™" is equal
Ay A7'B” By 874" {C) BA (D) AB
If x' -3 =0 then sum of roots is: (A) Zero (B3 (O =3 (D)
Ifone rootof x? +1=0 is i then other root is: (A) -1 By -i (©1 (D) =zl
A fraction Nix) is called Proper Rational Faction if: -
(A) Degree of N{x) < Degree of D(x) (B) Degree of N (x) > Degree of D o
(C) Degree of N(x) s Degree of Di(x) (D) Degree of D(x) < Degree of N(X)
) Foran infinite Geormetric series for which 1 R where n = o Q.
1
)l (B) —! o Dy -2
l~r l+r ; ar

it
1) With usual notatians, Y k' equal to:

. ‘9;‘
k=1
f :'\
(A) _"_UA_"'H (B) ﬁl_.”?tﬂ [C)Lﬂ% DYy minm+1)
E g

10)  How many ways 5 keys can be arranged on ? (A)12 (B s ()4 (D) 3
|

iy "P equels: T e r 0% "C, (€ =x"C, (D) rx Az
r
12)  In the expansion of (1 + ¥, lh& mia} coefficients is:
(A) n (B) (G 27w Ny 2
)] nt> n istruefarinle*ﬂ fn: (Ayn=3 (Bin=4 (Cyn=2 (Dyn=1
1

114} The vertex W ndard form is at: (AY(1.0)  (BY(O. 1) (O (V. 1) () (0. 0)
(15} sinfa + { ) equals:

(A} 2sina ¢ (B3 2cosa sin g (C) sine cos () sina
(16)  Domain of cosx function is: mw ®Ny R D2z

(17)  Circle which passes through vertices of a triangle is called:
(A) Circum circle (B) Incircle (C) e-circle (D) Point circle
i

- —
T T ey | 2 i A
) val notations, "= isequalto.  (A)a (B)a  (O) 5 (D) =

- -
(19) Tan 'E, Tan '-3- equals: (AyTan™'3  (B)Tan™2  (C) Tan™'l (D) Tan™'{-1)

(20)  Solution of equation tanx = L"i is in:

A

(A) t and [} quadrant (B) 1 and [ quadrant  {C) Il and ¥ guadrant (D) [ quadrant
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2019 (A) Roll No: _
INTERMEDIATE PART-1 (11 cLAss) MTN=—1I- oL—19

MATHEMATICS PAPER-I GROUP-I ~ TIME ALLOWED: 2.30 Hours~
_ SUBJECTIVE " MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the guestion paper. :
SECTION-I
2. Attempt any eight parts. §x2=16
(i} Find the multiplicative inverse of (-4, 7)

(i)  Simplify ()7

3
Gii) Simplify (- 1,48,
-

(iv)  Write down the power set of {a, [b,¢ ]}

(v}  Showthat p — (g v p) istautology or not.

o () Por A={1,2,3,4} find the relation {(x,y)x+y <5 }in A.
{vii) State any two properties of determinants.
4 : (viii) Show that for a non-singular matrix 4, (4™ = 4
"_' |1 2 3x]
& (ix}  Without expansion prove that |2 3 ﬁxl =( -
1| 3 § 9
l! (x)  Reduce 2x* -3x’ —x? - 3x +2 =0, into quadratic form,

3

(xi) Solvetheequation x* +x*> +x+1=0

! {xii) Define exponential equation. - =

! 3. Attempt any eight parts. ' 8x2=16
(i) Resolve {T;%j into partial fractions.
(ii)  Define improper rational frdetion:

1 A B iz D

- = + + ot
(x +]'}2{xi-1} x—-1 x+1 {x+1)° (x+ 1)
Calculate the values of dyand D.

{iii)  For the identity

(iv)  Write first folr tetms of the sequence a, =3n -5
(v)  Find tH&'13" tépm of the sequence x, 1, 2-x, 3 - 2%, =~=—~

(vi}gm, How many terms of the series -7 +{=35)+(-3) + ————amount to 657

{vii)¢ Insert two G.Ms. between “2"* and “16”.

i {viii} > Write two relations between A, G, H, in which A = Arithmetic Mean, G = Geometric Mean,
H = Hartmonic Mean. .

{ix) How many arrangements of the letters of the word “ATTACKED", taken all together, can be made?

-

I (x) Prove the given formula for n=1, 2 I+y2+}‘/1+-——-+#:2|-1-2]—n]

(xi) Calcutate (9.98)" by means of binomial theorem.

(xii} If x is so small that its square and higher powers can be neglected, then show that

ek =1~Ex

Jl+ x 74

P.T.O.
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4. Attempt any nine parts,

(i)  Prove that sec? A + cosecA = sec? A cosec A where 4228 negz

(i)  Write two fundamental identities.

(iii)  Showthat cot® @ + cot® @ = cosec*d - coseéc’d
(iv) Provethat tan(45” + 4)tan(45° - 4) =1

) Express sinSx + sin7x as a product.

sind +sin24

——— . = ftan A
14+ cosd+cos2A

{(vi)  Prove that

(vii}) Write down domain and range of y=tanx
{viii) Find the area of the triangle ABC, giventhreesides a=18, b=24, ¢ =30

(ix) Showthat r=(s-a }1&115;-

(x)  The area of triangle is 2437, If a =79, and ¢ =97, then find angle 5.

(xi) Showthat cos (Sin'x) =1 - x?

(xii) Solve the equation sin2x = cosx . o
(xiil) Define trigonometric equation. Give one example o

' : SECTION-II
NOTE: - Attempt any three questions,

Q‘
5.{a) Show that the set { 1, -1 i -4 } is an abelian group under multi ion Where i* =

b+e a a* \
6.(a) Provethat |[c+a b &°|=(a+b+ - (b-c)(c-a)
Cla+b ¢

(b) Find the probability that the sum ofdots appearing in two successive throws of
two dice is every time 7.
i

7.(a) Use synthetic di n\ne valuesof p and ¢ if x + ] and x — 2 are the factors

of the polyn s px +qx 46
by ¥ x i that its cube and higher powers can be neglected, then show that
o Y lx - Exz
8.(a) Prove that M = tan& + secd

tan# — secd + 1
() If a, B, y arethe angles of A4BC then prove that

a g B 7 Y, o
tan — tan— + tan — tan-— tan— tan— = [
I i T e

9(a) Provethat r, +r +m -r=4R

i g

(b) Provethat 2tan” = + tan”' = = Z
3 7 34

15-2019(A)-13000 (MULTAN)

9x2=18

3x10=30

-1 5

) lfy:%x+%x1+%x3+‘w—l—andif Oixv:i, l% s Zflsiy)
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